## Bid #OPN2123817B1 - Baggage Handling Systems (BHS) MRO Services

Start Date Jan 31, 2022 4:06:46 PM EST Awarded Date Not Yet Awarded

		\$7,003,761	.28 (6/6 items)
	Supplier Notes	•	
Line Item	Unit Price	Qty/Unit	Total Price
Baggage Handling Systems FLL Terminal 1: Monthly Base Services - Alt 1	\$141,139.98	12 / month	\$1,693,679.76
	Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 85		
First Offer	\$157,055.53	12 / month	\$1,884,666.36
	Supplier Notes	: Percentage o	
BHS and MRO for FLL Terminal 2 - Alt 1	\$94,093.32	12 / month	\$1,129,119.84
	Supplier Notes	: Percentage o	
First Offer	\$104,703.69	12 / month	\$1,256,444.28
	Supplier Notes	: Percentage o	
BHS and MRO for FLL Terminal 3 - Alt 1	\$94,093.32	12 / month	\$1,129,119.84
	Supplier Notes	: Percentage o	
First Offer	\$104,703.69	12 / month	\$1,256,444.28
	Supplier Notes	: Percentage o	
BHS and MRO for FLL Terminal 4 - Alt 1	\$141,139.98	12 / month	\$1,693,679.76
	Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 85		
First Offer	\$157,055.53	12 / month	\$1,884,666.36
	Supplier Notes	: Percentage o	
BHS and MRO for Port Everglades - First Offer	\$0.00	12 / month	\$0.00
	Supplier Notes attributed to la ERMC understa	: Percentage of abor and Mana and the require	<b>agement</b> : 0 ments to maintain
	Line Item  Baggage Handling Systems FLL Terminal 1: Monthly Base Services - Alt 1  BHS and MRO for FLL Terminal 2 - Alt 1  BHS and MRO for FLL Terminal 3 - Alt 1  BHS and MRO for FLL Terminal 3 - Alt 1  BHS and MRO for FLL Terminal 3 - Alt 1  First Offer	ey@unifiservice.com 6360  Line Item Unit Price Baggage Handling Systems FLL Terminal 1: Monthly Base Services - Alt 1 \$141,139,98 Supplier Notes attributed to la supplier Notes attributed to	ROWLEY ey@unifiservice.com 6360  Supplier Notes:  Line Item Baggage Handling Systems FLL Terminal 1: Monthly Base Services - Alt 1 Supplier Notes: Percentage of attributed to labor and Mana EMK Cunders Alt 1 Supplier Product Code: Supplier Notes: Percentage of attributed to labor and Mana First Offer  BHS and MRO for FLL Terminal 3 - Alt 1 Supplier Product Code: Supplier Notes: Percentage of attributed to labor and Mana First Offer Si 157,055.53 12 / month Supplier Product Code: NA Supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana first Offer Si 104,703.69 12 / month Supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana first Offer Si 104,703.69 12 / month Supplier Product Code: Supplier Notes: Percentage of attributed to labor and Mana first Offer Si 104,703.69 12 / month Supplier Product Code: NA Supplier Notes: Percentage of attributed to labor and Mana first Offer Si 104,703.69 12 / month Supplier Product Code: NA Supplier Notes: Percentage of attributed to labor and Mana first Offer Si 157,055.53 12 / month Supplier Product Code: NA Supplier Product Code: NA Supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier Notes: Percentage of attributed to labor and Mana supplier

3/17/22, 8:40 AM	Periscope Source: Bid Tabulation	Report		Exhibit 1 2 of 6
OPN2123817B101-06 ✓  Product Code: Agency Notes:		\$39.27  Supplier Produ Supplier Notes attributed to la ERMC will make during the stand	: Percentage on the control of the c	<b>agement</b> : 85 to make repairs

<u>mike.garlic</u> Ph 801-629-	k Address <b>OGDEN</b> <u>k@jbtc.com</u> 3117	N, UT 84401		
Agency Notes:			es:	
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OPN2123817B101-01 🗸	Baggage Handling Systems FLL Terminal 1: Monthly Base Services - First Offer	\$185,173.00	12 / month	\$2,222,076.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Percenta attributed to labor and N 86.7 Please see the attachment Letter, JBT Statement of Qu Litigation History		<b>/lanagement</b> : s JBT Cover	
OPN2123817B101-02 ✔	BHS and MRO for FLL Terminal 2 - First Offer	\$72,789.00	12 / month	\$873,468.00
OPN2123817B101-02 ✓ Product Code: Agency Notes:	BHS and MRO for FLL Terminal 2 - First Offer	Supplier Proc Supplier Not		e of Price
Product Code:	BHS and MRO for FLL Terminal 2 - First Offer BHS and MRO for FLL Terminal 3 - First Offer	Supplier Proc Supplier Not attributed to 86.7	duct Code: es: Percentag	e of Price
Product Code: Agency Notes:		Supplier Proc Supplier Not attributed to 86.7 \$137,990.00 Supplier Proc Supplier Not	duct Code: es: Percentago labor and Ma	se of Price anagement: \$1,655,880.00

**Bid Allowance** 

JBT **√** 

\$643,000.00

\$7,266,160.00 (6/6 items)

				LAINDICI
				3 of 6
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes: Percentage of Price attributed to labor and Management: 86.7		
OPN2123817B101-05 ✓	BHS and MRO for Port Everglades - First Offer	\$9,958.00	12 / month	\$119,496.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 86.7		
OPN2123817B101-06 ✓	Supplemental Services - First Offer	\$45.33	2000 / hour	\$90,660.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 86.7		
Bid Allowance				\$643,000.0

JSM and Associates 🗸		\$8	8,802,370.000	04 (6/6 items)
Bid Contact Mike DeVes	Address <b>470 C</b>	Address <b>470 County Road 448 com 2nd Floor</b>		
mike.deves	ta@jsmairports.com 2nd F			
Ph 407-463-	ares, FL 32778			
Bid Notes <b>Supplemen</b>	tal Services - \$80.00 monthly			
Agency Notes:		Supplier Note: \$80.00 monthly		al Services -
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OPN2123817B101-01 🗸	Baggage Handling Systems FLL Terminal 1: Monthly Base Services - First Offer	\$214,887.04	12 / month	\$2,578,644.48
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 32.2		
OPN2123817B101-02 🗸	BHS and MRO for FLL Terminal 2 - First Offer	\$94,676.7017	12 / month	\$1,136,120.4204
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 14.2		
OPN2123817B101-03 🗸	BHS and MRO for FLL Terminal 3 - First Offer	\$172,440.53	12 / month	\$2,069,286.36
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and		
OPN2123817B101-04 🗸	BHS and MRO for FLL Terminal 4 - First Offer	\$171,277.6117	12 / month	\$2,055,331.3404
Product Code: Agency Notes:	1	Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 25.7		
OPN2123817B101-05 🗸	BHS and MRO for Port Everglades - First Offer	\$13,332.2833	12 / month	\$159,987.3996
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 2		
OPN2123817B101-06 🗸	Supplemental Services - First Offer	\$80.00	2000 / hour	\$160,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 0		
Bid Allowance				\$643,000.00

Symbrant Technologies, Inc. 🗸

Bid Contact **Bryan Pevsner** 

\$8,819,560.04 (6/6 items)

Address 16 Commerce Drive

4 of 6 Farmingdale, NY 11735 bpevsner@symbrant.com Ph 631-414-7077 Proposed pricing is based on Addendum 6 staffing Requirements **Bid Notes** Supplier Notes: Proposed pricing is based **Agency Notes:** on Addendum 6 staffing Requirements Item# Line Item **Unit Price** Qty/Unit **Total Price** OPN2123817B1--01-01 🗸 Baggage Handling Systems FLL Terminal 1: Monthly Base Services - First Offer \$175,252.56 \$2,103,030.72 12 / month **Supplier Product Code: Product Code: Agency Notes:** Supplier Notes: Percentage of Price attributed to labor and Management: OPN2123817B1--01-02 🗸 BHS and MRO for FLL Terminal 2 - First Offer \$156,656.00 12 / month \$1,879,872.00 **Product Code: Supplier Product Code: Agency Notes:** Supplier Notes: Percentage of Price attributed to labor and Management: OPN2123817B1--01-03 🗸 BHS and MRO for FLL Terminal 3 - First Offer \$156,656.00 12 / month \$1,879,872.00 **Product Code: Supplier Product Code:** Supplier Notes: Percentage of Price **Agency Notes:** attributed to labor and Management: OPN2123817B1--01-04 🗸 BHS and MRO for FLL Terminal 4 - First Offer \$175,252.56 12 / month \$2,103,030.72 **Product Code: Supplier Product Code: Agency Notes:** Supplier Notes: Percentage of Price attributed to labor and Management: 10% OPN2123817B1--01-05 🗸 BHS and MRO for Port Everglades - First Offer \$2,229.55 12 / month \$26,754.60 **Product Code:** Supplier Product Code: **Agency Notes:** Supplier Notes: Percentage of Price attributed to labor and Management: Port Everglades will be supported by FLL staff and not have dedicated on-site staff. OPN2123817B1--01-06 < Supplemental Services - First Offer \$92.00 2000 / hour \$184,000.00 **Supplier Product Code: Product Code:** Supplier Notes: Percentage of Price **Agency Notes:** attributed to labor and Management: 10% **Bid Allowance** \$643,000.00

Oxford Airport Technical Services 🗸 \$9,139,989.00 (6/6 items) Bid Contact Roger Fortin Address 2093 Mesic Hammock Way rfortin@oxfordats.com Venice, FL 34292 Ph 954-495-3675 Per terminal pricing is not stand alone, due to shared resources is to be considered lumpsum for the scope of work. Bid Notes Proposal is uploaded in the Terminal 1 offer section. **Agency Notes: Supplier Notes:** Per terminal pricing is not stand alone, due to shared resources is to

17/22, 8:40 AW	5 of 6				
				the scope of in the Terminal	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
OPN2123817B101-01 🗸	Baggage Handling Systems FLL Terminal 1: Monthly Base Services - First Offer	\$241,365.64	12 / month	\$2,896,387.68	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 95			
OPN2123817B101-02 🗸	BHS and MRO for FLL Terminal 2 - First Offer	\$94,998.95	12 / month	\$1,139,987.40	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 95			
OPN2123817B101-03 🗸	BHS and MRO for FLL Terminal 3 - First Offer	\$180,096.40	12 / month	\$2,161,156.80	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 95			
OPN2123817B101-04 🗸	BHS and MRO for FLL Terminal 4 - First Offer	\$176,382.99	12 / month	\$2,116,595.88	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 95			
OPN2123817B101-05 🗸	BHS and MRO for Port Everglades - First Offer	\$4,641.77	12 / month	\$55,701.24	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 95			
OPN2123817B101-06 🗸	Supplemental Services - First Offer	\$63.58	2000 / hour	\$127,160.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of Price attributed to labor and Management: 100 The overtime billable hourly rate for Industrial Mechanical Technician.			
Bid Allowance				\$643,000.00	

## Offer Total

\$41,031,840.3204 (Does not apply to percentage or no price items.)

## No Bids

Five Star Airport Alliance Out of our scope of work.